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FA: Ors& Al
M OlE=NEZ
l: OFS=XIAIE X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 127,174
=S 57,228
Al 133,534
307 @I2to| & 317,936 317,936 0
= 127,174
= 57,228
Al 133,534
10 Al SAAEEHE 22X 317,936 317,936 0
OREs0ts ISSEMH 23 (2124])
305,299,000 305,299
= 122,119
= 54,954
Al 128,226
OREs0ts 1SS 2N (22Hl)
12,637,000 12,637
= 5,05
= 2,274
Al 5,308
2Es0ts 58 NHAEALE 145,666 145,666 0
== 41,346
Al 104,320
307 212+01& 145,666 145,666 0
< 41,346
Al 104,320
10 Al2IS XA EEE 22X 145,666 145,666 0
OZ3s4EINF(AES) AL SE=E X
el 11,880,000& 11,880
= 3,564
Al 8,316
O3sdatd(083) ANEd20ts N
24,077,000 24,077
[ 7,223
Al 16,854
O3sSHEIIE(OEE) SAL FIHHE
68,771,000& 68,771
= 19,35
Al 49,416
OSsdatg(0se) o2t 26
40,938,000 40,938
[ 11,204
Al 29,734
St iolots&E 2EX3 494,044 472,788 21,256
= 189,744
S 62,828
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l: OFS=XIAIE X EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 494,044 459,108 34,936
= 189,744
= 62,828
Al 241,472
10 IS SXAIEHE2ZHIEX 494,044 459,108 34,936
OBt IIIHOIS HE 2EXIL
474,364,000 474,364
= 189,744
= 56,924
Al 227,696
OstHIlohols &Ee SAIX S8
13,680,000 13,680
& 4,104
Al 9,576
OstHIIaholsS &H SAIK /Y
6,000,000& 6,000
= 1,800
Al 4,200
OtsL=AlE 224 XI& 359,260 357,640 1,620
& 9,248
Al 350,012
307 212+01 A 359,260 341,000 18,260
& 9,248
Al 350,012
10 AlRISEXAEHE2EHIEX 359,260 341,000 18,260
OL=EAd JAIESHI=Z 1,620,000& 1,620
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= 3,370
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= 925,467
Al 856,453
SIS Ots24 N3 665,500 297,984 367,516
=S 665,500
301 EtE NS 665,500 297,984 367,516
= 665,500
02 ARSI S2E AT S(FIANS, XLETHE) 665,500 0 665,500
OoshlE Otss4a X 665,500,000 665,500
< 665,500
gss otssa N 504,000 274,500 229,500
s 151,200
Al 362,800
301 22N = 504,000 274,500 229,500
[ 151,200
Al 362,800
02 AR 2EH 2GS (HAAS, NWE) 504,000 0 504,000
ogss Otssa X2 504,000,000& 504,000
= 151,200
Al 362,800
Otsga2X A% A 237,368 237,368 0
= 165,149
S 21,234
Al 50,985
201 Ler23| 1,440 1,440
01 At2teltl 1,440 1,440
OULIEMSE 822 X S
14,400%100H 1,440
301 EetE NS 235,928 235,928 0
= 165,149
= 21,234
Al 49,545
01 Al EE A S (2 REXMR) 235,928 235,928 0
OOtsZE XN A2 K&
235,928,000 235,928
= 165,149
= 21,234
Al 49,545
BSE=0t=sXIH 100,800 39,600 61,200
= 80,640
= 6,048




FA: Otsa etz Al
T OIS=XET
&el: Ols2Es Mg (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,112
301 EtE NS 100,800 39,600 61,200
= 80,640
= 6,048
Al 14,112
01 Al EE AT Z(2DEXR) 100,800 39,600 61,200
OESER0IE N4y
100,800,000 100,800
= 80,640
= 6,048
Al 14,112
A0S &= NE 217,598 217,598 0
S 28,644
Al 188,954
301 EetE NS 196,280 196,280 0
== 28,644
Al 167,636
01 Al 2E A S(EREXME) 196,280 196,280 0
OoJgAg s d=s2Ls N
151,200,000 151,200
= 15,120
Al 136,080
O AMU ?1Z23 K&
8,880,000& 8,880
=S 2,664
Al 6,216
OJtgfIg0ts tstdstiis X2
7,500,000 7,500
= 2,250
Al 5,250
OEASSZ0ts MHEEHSAE
25,000,000 25,000
=S 7,500
Al 17,500
O AASHMU & M=Hl XA
3,700,000 3,700
= 1,110
Al 2,590
308 AXIMSO0IA 21,318 21,318
07 MM 2R 52 21,318 21,318
OJIELISNAME 2geea
21,318,000 21,318
IS ?IE0ts doli28z X2 2,879 2,879 0
= 2,016
S 259




FA: Otsa etz Al
g OlIs=Asd
@2l OlIsES NEXI (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 604
307 gl2tol & 2,879 2,879 0
= 2,016
= 259
Al 604
06 2= 2,879 2,879 0
OJIESIE0ts doli28=s A&
2,879,000& 2,879
= 2,016
= 259
Al 604
IS ADI0ts JHEEs d20ts2s4| K& 4,500 0 4,500
= 3,180
= 405
Al 945
301 LENZ 4,500 0 4,500
= 3,180
< 405
Al 945
01 ABIEEX4HZ2(2DEXTHA) 4,500 0 4,500
OslolE H2otEE s
4,500,000 4,500
= 3,180
< 405
Al 945
JHERIE 28RS d20tsEsHl K 12,000 9,000 3,000
= 8,400
< 1,080
Al 2,520
301 2eEN= 12,000 9,000 3,000
= 8,400
=S 1,080
Al 2,520
01 Al EE AL S(FREXMH) 12,000 9,000 3,000
O&EIIEAE d20ts23H] XE
12,000,000 12,000
= 8,400
= 1,080
Al 2,520
I AE0E otsE3+8dl X& 1,000 1,000 0
= 700
S 0
Al 210
301 2N = 1,000 1,000 0




FA: Otsa etz Al
g OlIs=Asd
tel: Ots2s NEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 700
=S 0
Al 210
01 Al E2E AL S(FRDEXH) 1,000 1,000 0
OJIESIOIE OIS BETAY| X
1,000,000 1,000
= 700
S 0
Al 210
OIS ISR 126,803 94,985 31,818
= 88,763
= 11,485
Al 26,555
301 EtE NS 126,803 94,985 31,818
= 88,763
= 11,485
Al 26,555
01 Al EE A S (2 DEXR) 126,803 94,985 31,818
OogHIE X 2,700,000& 2,700
= 1,890
= 405
Al 406
Ogells g+ A&
108,000,000 108,000
= 75,600
= 9,631
Al 22,769
oty gg=sls Xd
2,000,000& 2,000
= 1,400
= 180
Al 420
Ogdiidots AEIHd 254l A&
12,000,000 12,000
= 8,400
= 1,080
Al 2,520
Og=e{I2t DX 2,103,000 2,103
= 1,473
= 189
Al a4
B TEHAAEZ N3 48,000 48,000 0
== 14,400
Al 33,600




£AM: Ots&IS Al
¥ Ols=X&H
&2 OtsE2EsS AE X3
SA BB SL(BH) - NSAY - B 0l o A
307 QI2t01 A 48,000 48,000
& 14,400
Al 33,600
11 AMIISXAEEXR 48,000 48,000
O&FII2 & AAEZ} X3 AH
48,000,000& 48,000
T 14,400
Al 33,600
FAHEX s Ols KX 14,270 14,270
= 9,989
= 1,284
Al 2,997
307 QIZt0IA 14,270 14,270
= 9,989
& 1,284
Al 2,997
02 QIZHEAAHE R 14,270 14,270
OZANEX s Ots K&K
14,270,000& 14,270
= 9,989
& 1,284
Al 2,997
FUHE OlSSEAMHIA(OISES) 43,520 43,520
= 34,816
& 2,611
Al 6,093
101 214d| 28,520 28,520
= 22,816
= 1,712
Al 3,992
03 BRH(RINHS) 2222 28,520 28,520
OS2SR 28,520
—=20 ¥ = 2,376,666 x1H +12& 28,520
= 22,816
== 1,712
Al 3,992
201 Let2AH| 9,660 9,660
= 7,728
= 579
Al 1,353
01 At22teld| 9,240 9,240
ARt A2
100,000+6 Y *73] 4,200
= 3,360
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FA: Otsa etz Al
U OIS=XS
&el: Ols2Es Mg (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 21,227
Al 176,078
101 @124H| 176,884 174,459 2,425
= 114,560
== 8,931
Al 53,393
03 SRA(RIH L) 222+ 176,884 174,459 2,425
OO0tsSE AtcllZtel At 176,884
—QIAHl = 143,200,000 143,200
= 114,560
< 8,931
Al 19,709
—d0s € =€ S 6,736,800+56H 33,684
201 er2 3| 64,582 64,582 0
= 40,430
S 4,49
Al 19,653
01 At2tltl 33,390 33,390 0
OLEEAEE MY JIZ2 AIRESHI
4,099,000& 4,099
= e
< 4,000
OSHAEEAY BE2(84%, 2Tt 8)
1,100,000+22] 2,200
= 2,200
OSE A2l SRTA & SHEETAL &
2= HMEH| 3,000%300JH*1=] 900
OEEARE AEd3us S
3,000,000 3,000
= 3,000
OEEAERE Zel T2l &Y € 237
ul 225,000%325+32] 2,025
= 2,025
OEEHAEE MAAAHE |2
900,000& *14] 900
= 900
Oonzd =24 U&=
60,000+ 12|*6IH & 360
= 360
OE=20dy 29 X (UHEHA) gXt
8,000,000 8,000
= 1,000
Al 7,000
O=2g9da & 8oH #1& =<
70,000x10E 23 1,400




FA: Otsa etz Al
T OIS=XET
&el: Ols2Es Mg (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,400
OAtell2tel sHH0IN =&
70,000+5 2 +32 1,050
On2d2E ZA=E 620,000% 123 7,440
= 6,238
== 49
Al 703
OSYAEE g2 27 32|
2,016,000 2,016
02 S3=gHl 15,992 15,992 0
OEEAERE MIIe= 300,000« 12& 3,600
= 600
Al 3,000
OOlsSEAMHIAXY SUHE 22
50,000%5CH* 123 3,000
= 3,000
OEEAERE d=J| FAI2clbl
56,000% 122 672
=2 672
OxE 27X 2EHI(RF.HS.3H S)
370,000% 122 4,440
= 2,45
Al 1,984
OWLHEAIE R ZH 2 oi2t)
50,000+ 10CH 22 1,000
= 1,000
ORoIBH|l FAI2=H| 140,000% 122 1,680
= 1,680
OMIIUHNEH =2 500,000 12 500
OAgHEEH === 500,000& 12 500
OLEAEE Hts 34 94|
600,0002 %12 600
03 A= 15,200 15,200 0
OLEARE 22, 25,54 S 2208 ¢
A 1,000,000+ 120H& 12,000
= 12,000
OLEAEHE 82 € UAEE /25
2,000,000+ 14 2,000
= 600
Al 1,400
OEEAEEMY Z208 0 AL 2
L= 2,000+508 * 12 1,200
= 1,200
202 04l 20,600 20,600 0
= 15,000
Al 5,600




FA: Otsa etz Al
T OISSASE
&t otEEs NEXRE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 =LH LI 9,800 20,600 10,800
OSYAEE 242 2 0] L DSEA
8,900,000& 8,900
= 6,360
Al 2,540
OLEAEE 28 AAX Ast & s A
900,000 900
02 XN 10,800 0 10,800
OOISSSABRIA L2 XA 01|
10,800,000 10,800
= 8,640
Al 2,160
206 M=l 3,000 3,000 0
= 3,000
ED 3,000 3,000 0
OSEAEIE Z208 24 24|
300,000 102 3,000
= 3,000
301 LELE NS 183,143 183,143 0
= 83,674
=S 6.789
Al 92,680
01 Al EE A S(FRNEXM) 162,223 162,223 0
OESARE J|2 2,88 2208 T2
Bl 162,223,000 162,223
= 65,434
=S 6,789
Al 90,000
11 AALAEIXIE S 20,920 20,920 0
OEEARE Z208 & s S 341 2
o= 19,920,000 19,920
= 17,240
Al 2,680
OXNESA 25 BHA o=
1,000,000%14] 1,000
= 1,000
M HA=SFESS 16,800 16,800 0
= 13,440
< 1,008
Al 2,352
04 R (RIHA)22N BEESRES S 16,800 4,200 12,600
O322 221 28 2243 (30,2142,
0Z,AHH) 16,800,000 16,800
= 13,440
< 1,008




FA: Ors& Al
g OlIs=Asd
ool OIERS KX g
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,352
307 21201 & 8,800 8,800 0
= 8,400
Al 400
01 22X 2| 8,800 8,800 0
OB & ots2HY ST At
30,000+200H 6,000
= 6,000
OglzHl K& 2,800,000 2,800
= 2,400
Al 400
401 AIZHIZ S0 2,000 2,000
01 Al&H| 2,000 2,000
OEZALEE A& 2]
2,000,000+ 14 2,000
Ots otd2A X 406,200 178,940 227,260
OlSSIl Ml 2 At 393,200 165,940 227,260
201 et 3| 30,440 7,840 22,600
01 At2t2l] 6.440 1,640 4,800
OOtS=IH A EE2=2 A
400+2,0000H 800
OOt Y 82 &2 M
70,000% 124 840
OOtSSIHEAIE R =&
8,000+ 10«5« 122 4,800
2 S22l 24,000 6,200 17,800
Og=Rg & RA2eH(AZ, M3, 8l
) 200,000x 123 2,400
OOt A E2E RUHE 23
50,0002 «3CH* 12 1,800
O0lsE25E MR 332381, +=5,%t
& F) 1,500,000& ~12& 18,000
OOtSESE AIR4 20134
150,000% 122 1,800
202 04l 9,600 7,100 2,500
01 =LHAHI 9,600 7,100 2,500
OOtsstZA & 5 HFFA
20,0003 x5 +83|* 122 9,600
308 AtXIEMSOIE 31,000 31,000
07 HAHH 2R 52 31,000 31,000
Odeter OlsEsdEI 2 29882
31,000,000 31,000
401 AlZHIZ S0 302,160 100,000 202,160
01 Al&H| 300,000 100,000 200,000




2N OI=&SE Al
M Ots=XSH
&2: Ots ot&dAH2 K& (SH9 H2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OOIS2SE HA 235 2292 ZA(T 2
ASAIRA) 300,000,000 300,000
03 Al 20HYI 2,160 0 2,160
O0t=ESE HAI 235 c|2EE ZAF Al&
20HY] 2,160,000 2,160
405 KHAHF S H 20,000 20,000
01 AL S EF S| 20,000 20,000
O0tsESE FAI &2JHIE 2
20,000,000& 20,000
H2l0l=0186 22| 9,000 9,000 0
401 A& HILE0HY] 9,000 9,000
01 Al&HI 9,000 9,000
OUNelol=0lEe SXlIZel 9,000,000& 9,000
20| HM G A ZEOI T 2LH(CCTV) = 4,000 4,000 0
201 LEr2AH| 4,000 4,000
02 Bs249H| 4,000 4,000
O0oelojetd CCTvV &MIIe=2
4,000,000 4,000
XNEIIss SAILE 7,426,775 7,412,975 13,800
= 500,000
= 550,000
Al 6,376,775
22 x4 7,426,775 7,412,975 13,800
= 500,000
= 550,000
Al 6,376,775
S22 Z) LA 5,626,775 512,975 5,113,800
201 LEt2AH| 6,025 6,025 0
01 AFR2telHl 6,025 6,025 0
Ogbt4=2H| 1,330
—HIOHIIA AIREE 2E
30,000& *3H D
—HIOHDI2 &N 2 20,0002 12 240
—HIOHIIE &9 &
100,000& *103] 1,000
OHIOHIIAYE R =& = |
2,695,000& 2,695
OHIOHIIA YR8 ARE 2L
2,000,000 2,000
202 044| 6,950 6,950
01 2L Y| 6,950 6,950
OHIOHIIA S&AFIZEAF & 2D |2 22
(01l 2,250,000& * 14! 2,250
OHIOHIIE Y28 (o]
4,700,000& * 1A 4,700




FA: Otsa etz Al
g NHIse ZAE8E
Sl SEEY EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 5,613,800 500,000 5,113,800
01 Al&H| 5,611,640 496,400 5,115,240
OsdZ2elSE HYZ HESA
5,611,640,000& 5,611,640
03 AIESTHYI 2,160 3,600 1,440
OZAZRZE TUTR HEZAL 20
2,160,000 2,160
TR ZRHE LM (HEALY) 800,000 3,400,000 22,600,000
< 400,000
Al 400,000
401 AlZHIZL SO 800,000 3,400,000 22,600,000
= 400,000
Al 400,000
01 Al&H| 794,960 3,390,820 2,595,860
ORSAAS 2T =d SAHI
794,960,000 794,960
=S 397,480
Al 397,480
03 Al 20HHI 5,040 9,180 A4,140
OTSUAS 2AFNE 24 SA AIZ=0
af 800,000, 000& *0.63% 5,040
= 2,520
Al 2,520
SE 2 st ASAS 1,000,000 1,300,000 /300,000
= 500,000
S 150,000
Al 360,000
401 AlZHIZ S0 1,000,000 1,300,000 A.300,000
= 500,000
[ 150,000
Al 360,000
01 Al&HI 993,700 1,295,320 /301,620
O38 AMEE Wsr2r e
993,700,000 993,700
= 496,850
< 149,055
Al 347,795
03 Al 20HHI 6,300 4,680 1,620
O38 AMEE Wsr2 28 U
1,000,000,000& *0.63% 6,300
= 3,180
== 945
Al 2,205




